NP OEANEHFRR—VHEs SHM2FEE T{5sEEEREE

THDF
~ [lsaiE| ThL—=v 7] [REB%| ~

HifR BRB3ZILDEEXR ~F-HF- B~

7)) -5 2 EEREA ot B

BRI RUEMERE T b LT 4 v o b L—F—F8 SR ENEED
(t) V- P a t IZI"”XHEl BN 5



A ELT. BEFEPEREICDOIT
%Z_T’;&%U c~_§—7l3\ ?

* EEIEREE—KRFEDEL 7
*x BEZEFIRICTT N 2
* T, EALEBEVNDLHYETH ?




AR—YEFDRHH

® R&(ER)SEhENS)
2 FRRICB-ICNSIEIF)

3 ASVRBFORKACS-EEBNA
=RA I wE (R -RARIT)

FRTHRINS



AR—YEFELT
HH>TUWEHFNIFGESENE

0 &6

=2 -A¥)LmEE



ixIKIE®D

IRILF—R — 50%

BR)EER




BARSEBIEIRL

I —Z BT D MRZEES RR=EZ5H
. RN 1. EBREHE
B 8 2. RBEE
S S B Y
. Bp 4. 4
2L-FLE 5 5.

R AR B ()

gk 0+ ok 12FE




FB EEXFFE=3:1:2

' DEETHD D &
FRUFAREN = T /L ¥ —keal




SROFBR/ABIEF\DIHTI M ?

IRILX—iR




HAZzENLEITRANE XD

_ﬂgl_l&_: J§$
(2,400kcal) (3,500kcal)
400mé 43 ?

18 By ?

100g A ?

14] y::} 1~24]]
SHE1/2T K G fﬁg 1 1\2}1;
&%t100¢g RRAHE &%150¢g
&§t200¢ REER &§250¢

1@ ¥ XK1{E
&%t200¢g R &%350¢
B3 HE S5 ?

[EFzRFETERLLT IE]




AZEENETFERNE LD ~FEELREEI YA~

- ERTH50%

AR—"YVEFD
<IFILF—ENEEZ>

5 0 kcal kg, H

— iR
35kcal kg, H

THRILE— oo
= Z8k350g X 3 [m
(3,500kcal B Z22HF) |

_ﬂgl_l*' LEE =EF
(2,400kcal) (3,500kcal)
400m4 =1 600m4
148 R 2@
100¢g A 150¢g

14]] y::| 1~24]
_ e o SE1/2T
BE1/2T R LT WS 1Ny
&%t100g EAEHE &5t150¢
&5t200¢g REE R &5t250¢
148 ¥ K148
&8t200¢g BY £51350¢
#BISHE =58 EASRYIIE

EFEzRETRLT HE]

FHbIFFETEIL
FrASAhE & ASAhER




